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Review &
Preview

4-4. See below:
a. Strong positive linear association with one apparent outlier at 2.3cm.
b. She reversed the coordinates of (4.5, 2.3) when she graphed the data.
c. An increase of 1 cm length is expected to increase the weight by 0.25g.
d 14+025(11.5)=43g

. We predict that when the pencil is so short there is no paint left, the pencil is expected to weigh 1.4g.

4-5. See below:

a —6xy?t
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4-6. 21 yards apart

4-7. The better route to save time is the 122 miles at a slower pace of 65 miles per hour (although you only save
approximately three minutes). 115.2 minutes on the freeway or 112.6 minutes if taking the scenic route.

4-8. See below:
a.x=39.75
bx=6

4.9, f)=-5x+3

input (x) 2 10 6 7 -3 0 | -10 | 100 x
output () | —7 | —47 | -27 | =32 | 18 3 53 | 497 [-5x+3





